Multiplication d’'un Binome par Deux Trinomes (G)

Simplifiez chaque expression.

1. (=8¢° +9g")(—¢° — 5g* — 9¢%)(—9¢° + 64 — 39)

2. (60 4 5)(—9v* + 4v — 8)(Tv* + 20% — 4v)

3. (=7a® 4 3a*)(—=Ta* + a® — 6a*)(—5a* + 9a* — 9a)

L (=6 + cM)(8¢? + 4c + 6)(—4c* + 6% 4 8¢?)

(=L =6 (= =67+ 6f)(—9f° — 6/ +8f)
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6. (—2¢° + 3¢*)(—6¢* — q + 9)(—3¢* — 6¢* — 4q)

-3

(6 +8F)(Af 4617+ 3f2) (=2 + 82 + 2f)

- (—6d* + 5d)(8d* — 8d — 3)(—T7d" + 8d* — 5d)
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e

). (6h° — 6R*)(4h* — 5h — 6)(—8h” + 3h* 4 5h%)

10. (=8t° 4 8t1) (=2t — 3t> — 7t} (—5t* — 2t — 6)
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